Venn Diagrams

Venn Diagrams - Edexcel Past Exam Questions MARK SCHEME

Question 1 : Jan 05 Q5

Question Scheme Marks
Number
a)
A 6 B1
16 subtract M1
457 A1
subtract A1
16,19,25 A1
918 B1
(6)
C
®) P(No defects)=—o-= 0918 B1
1000
(1
+ +
) P(No more than 1)= 18+16+19+23 I—M M1
1000 1000
=0.978 0.978 A1
37 36
(d) P(Both had type Bj=——x — theirs rom B x M1
1000 999
3 )
-3 or 0.0013 or 0.00133 cao A1
27750
(2)
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Question 2 : June 05 Q7

Venn Diagrams

Glasses No Glasses Totals
Science 18 12 30
Arts 27 23 50 50 may be seen in (a)
Humanities 44 24 68 23 may be seen in (b) | B
Bl
Totals 89 59 148
5
@ P(Arts) = 20 = 2 0.338 a number/148 | M1 Al
148 74
4)
P(Right Handed) = ( 30 %x0.8) + ( 30 x0.7) +( 68 %0.75) ttempt add three prob | M1 A1~
=\ — . — . — o - atre: ai 2 pro
(c) 148 148 148 P P
A1V on their (a)
=3 0743 awrt 0.743 Al
74 3)
Question 3: Jan 06 Q6
(a) &
A
Venn Diagram M1
032011 &AB A1
035 0.22,0.35 & box A1
(3)
(b) P(4)=0.32+022=0.54:P(B) =0.33 MIATATH 9
(©) For independence P(A v B) =P(AIP(B)
For these data 0.22 = 0.54%0.33 = 0.1782 M1Afit
Atft
2. NOT independent (3)
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Venn Diagrams

Question 4: June 06 Q6

(a)

(b)

(e)

(@)

41
D

3 closed curves that intersect
Subtract at either stage

9753
106,12
41 & box
P(G.LH.D) _10_1
100 10
PGIAD) =L
100
o+7+3 21

P(Only two attributes)= =——0
100 100

M1
M1
Al
Al
Al
(6)

B1J

1)
B1J

1)
M1ALS

(2)
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Venn Diagrams

Question 5: June 07 Q4

(a) P(QuUT) =0.6 B1
P(Q)+P(T)-P(QT) =0.6 M1
P(ONT) =0.1 Al
3)
(b)
Venn M1
0.4 0.15, 0.35 A1)
0.4 and box B1
3)
Question 6: Jan 08 Q5
Diagram may be drawn with B C {A ] C] or with the 0 for B (AU C)' simply left blanlJ
(2)
A B
Accept
decimals
or probs. 3cc Mi
in Venn 90.3.2,1| A1
diagram 1.(0).2 | M1A1
1 outside | Al
Box B1
(6
c
1
(b) P(none)=0.01 Bift
(6]
(0) P(4 but not B)=0.04 M1 A1ft
2
(d) P(any wine but C)=0.03 M1A1fe
@
(e) P(exactly two)=0.06 Mi1A1ft
@
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Question 7: June 08 Q5

Venn Diagrams

Question Scheme Marks
Number
@)
A B
3 closed intersecting curves | M1
with labels
100 10030 | Al
1210325 | A1
Box | Bl
[4]
20
C
(b) 100+100+10+25 235 47 .
P{Substance = = —— =— or exact equivalent
( © 300 300 60 4 MIAlft
© 2]
C 10 0 i
P{All3 |A)=——— = —— or exact equivalent
( | ) 30+3+10+100 143 4 MIAIft
2]
(d) P iversal d _20 _1 t ivalent
(Universal donor)= 300" 15 or exact equivalen MIAL cao
2]
Total 10
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Question 8: Jan 10 Q4

Venn Diagrams

Question Scheme Marks
Number
(a)
5 D 3 closed curves and 4 1n centre | M1
Ewidence of subtraction | jiq
31.36,24 | A1
411711 | A1
v Labels on loops, 16 and box | B1
16
N
(5)
b
(b) P(MNone of the 3 0p1ion5)=£ = i_ Bift
C . 17
() P(Networking only)=— B1ft
180 (1)
d
(9 | a1 3 options/technician)= —- = - M1 A1
40 10 2)
Total [9]
Question 9: June 10 Q4
Question Scheme Marks
Number
2 M1 A1
(=) ._+3 = — > = 1 (** given answer*¥) 0 (2)
their total their total 6
b 2+5 , M1 A1
(b) u :E or ior 0.46 2)
total 30 15
B1
(c) | P(ANC)=0 (1)
10 1 9 3 3 3
PB)= —=-, P(C)=—=—, P(BAC)=—=— or P(BIC)=> M1
(d) B~ 373 M9%5 ( 30 or PEO =g
P(B)xP(C) lx 3 ! P(BNC) P(B|C) 3.1 P(B) M1
=—Hm—=—= or = —===
3 10 10 9 3
So yes they are statistically independent Alcso
(3)
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